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SN BBTMY A
B YRS Nots BBA X4
Sl Y4BT ERUBL CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OCLnEEE= 409,485,000& *1.5% 6,143
OHLEE= 409,485,000 *2.945% 12,060
ORYEE= 12,060,000 *3.275% 395
201 LEt2A | 544,633 565, 146 N20,513
01 AtR 2t 2l | 19,228 32,361 A13,133
Ood+=7g 5,000 50 128 3,000
OF=) HEZ 52,000 =20 x 122 1,248
o=J ¢ 27 *¢ 10,000& »1007H 1,000
QuEIINE =5 1,000, 000& =122 12,000
ONAHA =2 30,0003 *30H 2 +23] 180
O+=ZHZAN =2 150,000& =122 1,800
02 2324l 525,405 532,785 AT,380
oORER= 1,275
Os7l 1,770 «20= « 122 425
oes 340& 2,500 850
oger d+ER3 9,500,000& 122 114,000
OXE3H ¥ MRS 1,600,000 128 19,200
OMIl =AH =8 150% «8,000kg*12& 14,400
OSASMA I 2N 242
150& +3,500c| H 123 6,300
Ot Il A=H 300,000 *5H £ 1,500
O 2l A=zl 200,000& 4 800
OCCTV ¥ LEDEZ B SX 22l
600,000& 12 7,200
OYYNEE 2 248 46,824
Otedgzel =2 22,0002 128 264
OFINIANX M =2 7,500,000 43 30,000
OEAANAE T2 FINESE
50,000 «10CH =12 6,000
OYZEd LiAIAY T2 SFXNE+2
310,000& =122 3,720
OUAIAE T2I8 SNL4E
550,000& =122 6,600
ORENEHYI =2 20,000& 12 240
OF=3=:F=3 5,990
OOAZ2H 282 3,500,000& 18] 3,500
O0lEgx 282 80,0003 »3CH 240
Oltsx 282 550, 000& »3CH 1,650
O=gsts 288 600,000 = 1CH 600
oOXIIRS 240,918
O AT 2 9,500,000 «12& 114,000
QA A L ALE 126,918
O X=Xt 13,559




FN 2ZXAMS A
MM A2E NS 2BX X4
Sl Y4BT ERUBL (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLEsE 3,349,000 = 1CH 3,349
OE=J-i3— 2,605,000 «2CH 5,210
Os83st= 3,500, 000 *1CH 3,500
O0I& Xt 500,000& »3CH 1,500
OZCAIAE EAZ(17HA)
150,000& x 170 & %123 30,600
OHELHAMNEIA EDZ 300,000+ 12& 3,600
O02+=Hel =2 412,920& =33 1,239
O2+=XelZ A&2e =2
1,500,000 »12& 18,000
206 M= Hl 7,500 7,500 0
01 M= 4l 7,500 7,500 0
OLLsHeld 2EEE 7
300,000& x5&+53] 7,500
AINAATEES2GXN (22 NHANLY) 2,805,000 0 2,805,000
306 93 2,805,000 0 2,805,000
01 &3 2,805,000 0 2,805,000
QAAZIIR 2,805,000
AL X OIME Dz 305,000 94,500 210,500
G ZMEHA EX 5,000 4,500 500
307 21201 A 5,000 4,500 500
04 DIZHHALALSE E X 5,000 4,500 500
OYYEZMISA EX 5,000
dEZEEM EX 280,000 70,000 210,000
307 glz2+ol & 280,000 70,000 210,000
04 QIZFHALAIH E = 280,000 70,000 210,000
OHYYZUI=M EX 280,000
M SXNE /S AIZEE OIHE =z 20,000 20,000 0
201 et 20,000 20,000 0
03 &Ar2 I 20,000 20,000 0
O ZHEZE OIHE &AL 20,000
gatmaall AdE2 28 2 22 1,254,887 1,199,463 55,424
A2 2d2e] 429,285 423,215 6,070
101 @124l 91,525 85,455 6,070
04 JI2ZtHZ22HEE = 91,525 85,455 6,070
FHZ z2te] o2 18,305
ool 44,6407 * 1% %247 11,027
Osg2Z2f =¥ 44 6403 «150%+ 12 x66 L 4,420
OFxt=g 44 6403 «1H x522 2,322




SA X AE A
MM U=E NEsls BB XA
Celt UBIEREN ALE 29 2 22
SA-EB B (BH) - MRAY - B 0 4t 04 il
O9 X< 44,6403 x1G 12 536
oY SME2 22 oY 18,305
ooge 44,6403 1Y x247L 11,027
Oz 44,6403 *150%* 1 66 4,420
OFxEE 44 6403 1 x52 2,322
O9Xt=Y 44,6403 x1H x 12 536
OxAMEA2 22| 2o18Y 18,305
ool 44,6403 x 19 %247 11,027
Ose=22Y 44,6403 *150%*1H 66 4,420
OFxt==Y 44,6403 x1H 52 2,322
Od Xt 44,6403 x1H x12L 536
OdIol g ata 2el of2d 18,305
ool 44 6403 x1H %247 11,027
Osge22sY 44 6403 *150%* 1 x66 4,420
OFx=x=g 44,6403 1 52 2,322
Odxt=< 44,6403 x1H =12 536
Ottt EL =25 A 2 22| 2FY 18,305
oogy 44,6403 »1H 247 11,027
o= 44,6403 *150%*1H »66 2 4,420
OFxa=¢ 44,6403 1 x52L 2,322
O9 X< 44,6403 x1G 12 536
201 LEt2 A Y| 8,520 8,520
01 At 22| 6,000 6,000
OFARZ2Y SERY  300,0008 *10H A *23] 6,000
02 3524l 2,520 2,520
OFM & gdot2tel =2 210,000& 12& 2,520
206 T 2 bl 86,155 86, 155
01 M= bl 86,155 86, 155
M2 PROJECTEH I ¢! 8,800
OJIEH ATz ME 550, 000& *x2JH =8CH 8,800
OYESHEg2 T2 T Q]
550,000%2H =8 CH 8,800
OXNAHANSBS2 TZHEHT Q]
500, 000%2H *2CH 2,000
O40H A2t ot d 7,000& x200H 1,400
Ofl&2 2HS2E(HIT) 6,875
OFYelolE &= 517,000& *2JH x23| 2,068
QI 2HOIE &= (250W) 44 000 10K x23] 880
Ot 2t0lE &= (575W) 82,500& *3Jl *23] 495
OdEA0E 2HOIE S 77,000 *3M *23] 462
OAEZE gI0lE &= 385,000& * 1 x23] 770
OLCDEZ M E T 550, 000& *x2JH x23| 2,200
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FN 2ZXAMS A
M A2E NS DX T4
Chel: gexaadX AldE 29 2 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZEHOIDEE % SBCEN=ot42 29
=3 51,680
ODLPEZHEH BIE(HAH)
700,000& *23| *1 4 =16 CH 22,400
OLCDEZHEH BIE(HMAIH)
500,000 *2H *11CH 11,000
OZIMHA % =g 900,000& *23| 1,800
O3 Mot (2ga) 10,000& =1,0007H 10,000
OSPOT LITHT(200A12+ 1)
45,0003 *24 1 x6 3 6,480
odlolMIa2 2HSE 6,600
OXIMA M =2l 900,000& *23l 1,800
OLCDEZAEH #o 600,000 *4JH »2CH 4,800
307 21201 A 13,000 19,000 A 6,000
05 RIZt2IEt = 13,000 19,000 A 6,000
OFH& & 89 200,000& =53] 1,000
Oz &l de 2el 1,000,000& 128 12,000
401 Al HI 2 2B 230,085 224,085 6,000
01 A& HI 230,085 224,085 6,000
O=xJ EH WMHA 115,500& #357H 23] 8,085
OXHAIrE 2 &Rl &= 6,000,000& x13l 6,000
OO0IM Fatz ~=MH(HZ 2lZg)
15,000,000& »2CH 13l 30,000
Os==4A d22I M22 8,000,000 14! 8,000
oY) SFU 1,700& %9,500¢ »5& 80,750
Odlold Faa(HSIIWH) 4,000,000 *23] 8,000
ORI =2 & A2F WA
500,000& »20CH 10,000
OFH 2 HLHEI| Al HIHS A
1,500, 0002 »2CH 3,000
OZEMSHE HAIAIE Edl =2l
1,000,000& 10& 10,000
O5D Zaa F&FEH =2l 200,000,000 *10% 20,000
OClectOta J&aad =2l
192,500, 000& *10% 19,250
Q4Z &2 T2 HH 22 220,000,000& *10% 22,000
OMEA: REH dF U £X 5,000
HoAE 2g2tel 453,904 466,571 A12,667
101 @124l 358,479 350, 196 8,283
04 JIZHHNZ22XNSE =+ 358,479 350, 196 8,283
OlE % JIE3s 2% U2 100,442
osy 44 6403 x5H »247L 55,131
OsgZ2fs+% 44,6403 *150%*5H »66 L 22,097




FN 2ZXAMS A
MM U=E NEsls BB XA
S gEgnadl AIdS 28 ¢ 22
SA - BB (3) - NRAL - B Of & o il
OF=xt=¥ 44 6403 «5H #5224 11,607
Ogxt==< 44 6403 «5H x522 11,607
OJtHH 20 2 AF 18,305
ooy 44 6403« 1H »247L 11,027
Osg2=2sE 44 640 «150% 1 x66 Y 4,420
OFx==g 44 6403 «1H #522 2,322
Odxt=¢ 44 640 *1H x 122 536
OAdHIYH 2¢ RY 54,910
(@RIl 44 640 *3H »247L 33,079
OsgZ2fs+¥ 44,6403 «150%+32 x66 L 13,259
OFxt=g 44 6403 «3H x522 6,964
Og X4 44,6403 «3H 12 1,608
oH#E zZel 22y 36,071
oy 44 6403 x2F »247L 22,053
OsgZ2fs+% 44,6403 «150%+2H «66 L 8,839
O=Fx=¢ 44 6403 +2H x522 4,643
Og Xt 44 640 +1H x 122 536
OEYI QYA R 54,910
Oy 44,6403 +3H x247 33,079
Oxgzf=+% 44,640+150%+3H «66 L 13,259
OF=Xt=g 44 6403 «3H x52 6,964
Ogxt==< 44,6403 «3H x 122 1,608
O3EXYE 298 FY 36,607
(@RI =1 44 6403 x2H »247L 22,053
Osg2=2E 44 6403 «150%+2H x66 Y 8,839
(OE PN EE=4 44,6403 «2H x52 4,643
Odxt=¢ 44 640 +2H x 122 1,072
O+=g& & 8 18,749
oged 44,640 +5H 602 13,392
OsgZ2fs+¥ 44 6403 «150%+5 x10L 3,348
OFxt=g 44,6403 x5 92 2,009
oolggyd A2y 7,501
oY 44,6403 «2H 60 5,357
Osg2x=2sH 44,6403 *150%*2H x 10 1,340
O=Fx=g 44,6403 x2H 9L 804
OFL2Z2A 2 44,6403 x150%*4H 100 26,784
OLI=H (22X |LIS) 21¥ 100,000 *23] 4,200
201 Lt 2| 67,425 67,425
01 At 22l 23,800 23,800
OHHEAHI 2EE25 & 200,000 *13=*62 15,600
OH &I & A EH 150,000& 128 1,800
ONA=Z 28235 ¢ 400,000& x5& 2,000
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00 e i
09 v 0

H o =

Ab e
Ngotes 2&X =4
22X AIEES 28 & 2

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OgGIAE HI 7 2,000& x4Z *50I1 *3IH 2~ 1,200
O0t+=g& 4248 XN 120,000& x105 1,200
oMl (A, XNAHX)LYXZ 1,000,000 x23] 2,000
02 35294l 43,625 43,625 0
OEEI w22yl 5,000, 000& *x2[H *23] 20,000
OEHI waU
1,750& %2 . 5km*6&] *1.54 *2CH *300 23,625
206 M= Hl 5,000 5,000 0
01 & bl 5,000 5,000 0
ONAEH «4E L M+
500,000& *5& *23] 5,000
401 Al HI 2L 2 0HHI 5,000 35,950 A 30,950
01 A& HI 5,000 35,950 A 30,950
OHAM HEtAH WA L E=ZA
2,500, 000& *2CH 5,000
405 X+HaHF SHI 18,000 8,000 10,000
01 A&t = S F SHI 18,000 8,000 10,000
OMEA EAAH P2 4,000,000& *2CH 8,000
OHJAHE X L &2 10,000
22X SFoNA 371,698 309,677 62,021
101 @121l 162,688 157,717 4,971
04 J|ZtH2ZXNEE S 162,688 157,717 4,971
ONMEXHY o2 119,2403 *5H x5 x23| 5,962
ONx&Y o2 86,690& x5 82 x4 3| 13,871
OSMHINI&Y olf 44,6403 x4H x8L x43| 5,714
otz o2 63,960
ool 52,0003 »3H %247 38,532
o= 52,0003 *150%*3H 66 ! 15,444
OFXE 52,0003 3% 52 8,112
ORa2&IIxx=2 52,0003 »3H x 12 1,872
Ost&Eal &2 ofY 54,910
ool 44,6403 *3H 247 33,079
Ose22Y 44,640 *150%*3H 66 13,259
OFxt==g 44,6403 »3H x52 6,964
(@ a=E= =y 44,6403 »3H x 12 1,608
OE&8= 17,671
O=01H= 144,416,000& *4 .5% 6,499
OAHLEE 144,416,000& *3.035% 4,384
OLEE 4,384 ,000& *3.275% 144
OMTHEE 144,416,000& *3. 1% 4,477
Oonsesd 144,416,000 *1.5% 2,167




FN 2ZXAMS A
M A2E NS DX T4
Pl SEEBY ALS 29 L B (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oul=l 100,000& 6H 600
201 2et24d] 51,600 51,200 400
01 At 2teltl 39,800 39,800 0
O=ssd 4225 72¢
110,000 x 1504 &~ *12& 19,800
O&FA: & HAEP P2 50,0008 155128 9,000
orxrgllss + 550& 20, 000 0K 11,000
02 2324l 11,800 11,400 400
OB & A ALEH SAHI(15H2)
200,000 * 1504 &~ 3,000
OARE & FHAE AEZEH =XH|
200,000 *9H £ 1,800
OZ2J, 052 & FHl X 2ecltl
500,000& 45 2,000
OFAXE 2l & A2F WA
500,000& *102] 5,000
206 M= Hl 81,110 52,760 28,350
01 M2 4l 81,110 52,760 28,350
Os< ¢ 100,000& x5& x 103l 5,000
OfHl & Hz7¢ 30,000 200 6,000
oMz 16,000& x 10122 1,920
oOstt=4E8 =37 7€
2,000& +6,640= *33| 39,840
Oordstzl Fl 1,500& *302 *630m 28,350
307 g1+l & 52,800 48,000 4,800
05 RIZt2E = 52,800 48,000 4,800
oOFaze AEEY 4,400,000& 123 52,800
401 AIEHI L 201 23,500 0 23,500
01 A& HI 23,500 0 23,500
Ox&dstE 2Al8 X 3,800,000 *50H & 19,000
odIIsYMS 2 NS E= 4,500
SEUUAER X229 233,949 102,171 131,778
SEUCAER 29 233,949 102,171 131,778
101 1244 dl 20,647 19,269 1,378
04 JI2ZHHZ2XEE+ 20,647 19,269 1,378
OAZH 2| 2Y 18,305
ooy 44,6403 +1H =247 11,027
OsLze+y 44,6409+ 150%+1 +662 4,420
OFx==g 44,6403 «1H 52 2,322
ORrsst=% 44 6403 +1H x 122 536
(O=E=5=3 2,242
O=2d3 18,305,000& x4 .5% 824
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S HZXAE A
MM A2E NS 2BX X4
Sl TELAASY SX2Y CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
(OFakAgh=: 18,305, 000& *3.035% 556
OAESH 556,000 *3.275% 19
OMTHEE 18,305,000 *3. 1% 568
ongEeEs 18,305,000 *1.5% 275
O Il =24 100,000 1H 100
201 et 9| 55,802 65,402 A9,600
01 AP 2t 2] H| 2,400 2,400 0
oOAEHd AR 2 12,000& *10Z *20 4 2,400
02 E2=2=24%H| 53,402 63,002 A 9,600
otegtg g8312¢ 1,800 »200L* 140 50,400
O A& Z&H KX 2,640 1,137 m 3,002
206 M = dl 22,500 17,500 5,000
01 2l 22,500 17,500 5,000
OBAAS ol 20,000& x750 15,000
gH ¥ 2 P2 15,000 2=+ 100 3,000
Oddls M s2*72e 20,000& x7&+15H 2,100
OAZMHIE I2H L HEs2Y
12,000& 4= +50 &L 2,400
401 AlEHIZL 2 0HY| 135,000 0 135,000
01 Al&H| 135,000 0 135,000
OAESH LFEANE B 135,000
2 ElIEEH 2 20,000 0 20,000
HZEIHEHN &8 20,000 0 20,000
401 AlEHIZL £ 0HY| 20,000 0 20,000
01 A&l 20,000 0 20,000
oszEYY X L 24 20,000
22X X4 4,796,063 6,847,063 A 2,051,000
Xl 2,000,000
= 600,000
= 2,196,063
Ggetmaazx X4 2,600,000 2,096,240 503,760
N 1,300,000
& 390,000
= 910,000
401 Al HI L £ 0HHI 2,600,000 2,000,000 600,000
N 1,300,000
= 390,000
= 910,000
01 Al& B 2,595,000 1,995,000 600,000
odgstTaI XM 2,595,000
Xl 1,297,500
& 389,250




FN 2ZXAMS A
MM A2E NS 2BX X4
ool 2N x4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 908,250
03 Al S THHI 5,000 5,000 0
ogaZaAN =4 5,000
X 2,500
< 750
s 1,750
oot 2 AHMNE (LS T 2ZX) 1,400,000 2,000,000 600,000
Xl 700,000
< 210,000
[ia 490,000
401 AIEHI L 2 0] 1,400,000 2,000,000 600,000
Xl 700,000
< 210,000
s 490,000
01 A& Hl 1,395,000 1,995,000 A 600,000
Odolier2Z S AHME 1,395,000
Xl 697,500
< 209,250
e 488,250
03 A& =2 THHI 5,000 5,000 0
Ogoiot2tZ I A AHMNEY 5,000
Xl 2,500
< 750
[ia 1,750
gatmata Xl JIBrAl S Z I (XA 546,063 410,823 135,240
201 Let24d] 96,240 0 96,240
02 =24l 96,240 0 96,240
OFJI|HE AN HE 2
1,320,000 » 122 20 A& 31,680
OLHI KX 2el 800,000& »3CH 2,400
05l |AE Y BALLE
250,000 8 2128 24,000
OsdI| HIEA =5 120,000 *8H & 960
O A& &EHl s Xl 37,200
O&A2H &IIzdg =8 & XA
1,200,000& *100H 4 12,000
OXA2 ™ ST 12,0002 %2, 10094 £ 25,200
206 = Hl 97,823 104,823 AT,000
01 MHZ 8l 97,823 104,823 A7,000
O3d2xd « LIPS 14,388
OJ2S, TS BT L AF¥I 7Y
50,000 %2894 *1/23] 7,225
OFEIYE BT U OFI| 7
1,000,000 265 *1/23] 13,000
OXNSXEMEI 2285 ¢
750,000 #2Z +8IH A +1/23] 6,000

_10_




SMN: BEXALA
YH: ARE NYsls 2N =4
el B BX X4 (et @ e)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ogerxy 7 5,000l 20004 * 12 12,000
OS4+xy ¢ 14,110
OELLLIPSOID LIGHT(400A12+ DI &)
50,0002 *57} 83| 2,000
OSPOT LIGHT(200A12F DI &)
45,0002 2474 *63] 6.480
OSTROBE LIGHT(6HE JIE)
150, 000! +57H *23] 1,500
OF00T LIGHT(1,000A12+ JIE)
15,0002 *18JH *33] 810
OLOW HORIZONTAL L1IGHT(1,000A12+ 1 %)
10,0002 9674 »23] 1,920
OEFFECT MACHINE 7,000% *20024 1,400
OFAIZ LEOET 7 g 110,000 <2504 27,500
0242l 37 YU, F0I0AERH S) 600
OLED E2J| 7 1,000, 0002 *35 3,000
401 A& HIL 2 O 352,000 306,000 46,000
01 Al&H 352,000 306,000 46,000
OZZHEAL 170,000
OBZXU 282 Hy| 90,000
OB THH 24 L H| 80,000
CERIES NP 75,000
O-zmnegt B4 ¥ &3
2,000, 0008 107 £ 20,000
OMXES L &% 200, 0008 +507H 4 10,000
OO & +=dH| 500,0008! «30% 15,000
Otz ZF¥Ls U HFAL Fl 30,000
OJIEFAI & 107,000
oxge HaFl 10,000
OMBLENSAHE =ML 4
15,000, 000! *27H 4 30,000
OO0kl 2T =Y FHIB A
1,000, 000! *167H 4 16,000
ONBE SHM&ZA 80,0002 *200m 16,000
OZEMNOIE TH(REB) HHISA
500, 000! +50m 25,000
OZEo2 V&Y N2t DA B A
5,000, 000% »2H 4 10,000
SHTBBN ASSESSEHI} 50,000 50,000 0
401 A& HI 2 SR Ol 50,000 50,000 0
01 Al&H 50,000 50,000 0
OYSTAUN AZSASSEH} 50,000
SSTBBR EHNY HY 29 200,000 420,000 £220,000
401 A& HIZ 2Ol 200,000 420,000 £220,000




FN 2ZXAMS A
M A2E NS DX T4
& 22X x4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 200,000 420,000 A 220,000
ogaxaZX THIHE HASABUR) 140,000
OMAETMNISLTE(NLHE )SA 60,000
LA E=2H 1,064,462 762,883 301,579
Xl 300,000
s 764,462
gae dE=xd 1,064,462 762,883 301,579
X 300,000
fia 764,462
e Eoi 202l A= d 900,000 603,000 297,000
Xl 300,000
s 600,000
401 Al HI R 201 I 900,000 603,000 297,000
Xl 300,000
s 600,000
01 A& HI 895,000 590,000 305,000
OgaZofditelLiAld =4 895,000
Xl 300,000
s 595,000
03 A& =2 THHI 5,000 13,000 A8,000
OZEEH A0t LIAIE =4 5,000
SO 202l LEAIE =S (KEA) 16,000 0 16,000
201 Let249] 16,000 0 16,000
02 =24l 16,000 0 16,000
ORRALIN sS85 2l 16,000
HddEZ=2H 138,462 149,883 A 11,421
101 14 Hl 51,212 50,033 1,179
04 JIZHHZ2XRHEES 51,212 50,033 1,179
OdEZuz 22 30,818
Oy 83,9703 x1H +25 « 122 25,191
ORrssgs% 83,9703 1«52 4,367
OAx=< 83,9703 1«15 1,260
OEZXZna 22Y 16,384
Oy 44 6403 «1H+252 « 128 13,392
ORrssgs¥ 44,6403 1«52 2,322
O xt==g 44 640 *1H x 152 670
o4l 2= 4,010
O=H3RES3 47,202,000 *4.5% 2,125
OdHEE = 47,202,000& *0.6% 284
Ons8Egs 47,202,000& *1.5% 709
OFaRzgh= 1= 47,202,000& *1.815% 857
OFIIRAEE= 857,000& x4.05% 35
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH o4 1l 66,780 66,780 0
OJleg =80l 200,000& x21H +123 50,400
O=W&Z0HI 65,000& x21H x12& 16,380
HRES(ZZXAE D) 776,250 802,500 N 26,250
SENES(ZZRAILA) 776,250 802,500 A 26,250
S EHA0I2ILHAIE = EANE S cisoE 776,250 802,500 A 26,250
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